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Some living things, such as plants, contain both the male and
female sex cells. In others, such as humans, they contain either
the male or female sex cell.

Reproduction

Mammals use sexual reproduction to produce their offspring.

- The male sex cell, called the sperm, fertilises the female
sex cells.

« The fertilised cell divides into different cells and
will form a baby with a beating heart.

« The baby will grow inside the female until the end of the
gestation period when the baby is born.

Echidnas and platypus are mammals but they lay eggs rather
than giving birth to live young.
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Some plants, such as strawberry plants, potatoes, spider plants and
daffodils use asexual reproduction to create a new plant. They are
identical to the parent plant.
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